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Extra Practice 1

	Lesson 3.1: Using Models to Multiply Fractions and Whole Numbers

1.
Write each repeated addition as a multiplication statement in two ways.


a)
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b)

[image: image6.wmf]8

7

 + 
[image: image7.wmf]8

7

 + 
[image: image8.wmf]8

7

 + 
[image: image9.wmf]8

7







c)
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2.
Multiply. Draw a picture to show each answer.


a) 7 × 
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b)
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 × 4
c)
8 × 
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d)

[image: image21.wmf]10

1

 × 6
3.
Ella baby-sits for 
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 h before school each morning. 


a)
How many hours does she baby-sit in a 5-day work week? _____________________ 
b) How many hours does she baby-sit in 4 weeks? ______________________________
4.
Multiply. Draw a picture to show each answer. Explain any patterns you see.


a)
6 × 
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b)
9 × 
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c)
6 × 
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d)
9 × 
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5.
Ian’s monthly allowance is $21. In January he starts saving for a 
birthday gift in June. Each month he saves 
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 of his allowance. 
The gift he wants to buy costs $110. Will Ian have enough money? Explain.




Extra Practice Sample Answers
Extra Practice 1 

Lesson 3.1

1.

a)
 eq \f(3,5) × 5 or  5 ×  eq \f(3,5)


b)  eq \f(7,8) × 4 or 4 ×  eq \f(7,8)


c)

 eq \f(2,9) × 8 or 8 ×  eq \f(2,9)
2.

a)
 eq \f(21,5)  =  4 eq \f(1,5)


b)
 eq \f(24,10)  =  2 eq \f(4,10)  =  2 eq \f(2,5)


c)
 eq \f(40,4)  = 10


d)
  eq \f(6,10)  =  eq \f(3,5)
3.

a)
 eq \f(15,4) h = 3 eq \f(3,4)  h


b)
 eq \f(60,4) h = 15 h

4.

All the answers are  eq \f(9,2)  = 4 eq \f(1,2) as a mixed number. 
The fractions in parts a and c are equivalent. In parts b and c, the whole number and numerator are interchanged. The fractions in parts b and d are equivalent. The pictures show that all the questions have the same product.

5.

In the six months from January to June, Ian will save  eq \f(2,3) of $21 = $14. 
$14 ( 6 = $84
Ian needs $110 ( $84 = $26.
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